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Please check whether you have got the right question paper.
1) All questions are compulsory.
2) Use blue or black pen only.
3) Use pencil for diagram.
4) Use of any signs, attracting attentions is prohibited.

?) T U Hisar.

Q) eFd e T Tedm AT aTuR .

3) MPcIHTS AfHerr araR .

¥) TGN F&TALH g Hich{cleh GUT d FeAT HIUATH Hicaer 3Tg.

A) Fill in the blanks. (Attempt all) 05
1) Integrated Rural Development Programme (IRDP) was introduced in ------------
2) Giving or taking dowry is @ ----------- by law.
3) Employment Guarantee Scheme was First introduced in ---------- state.
I is the main occupation of rural society.
5) A person deprived of employment having wish and ability to work in known as-------

a)ﬁam-‘msmﬂm. (@a fAar)

B) Answer in a sentence. (Attempt all) 05
1) What do you mean by corruption?
2) What is health?
3) Define poverty.
4) ‘What is malnutrition?
5) Explain the meaning of displacement.

&) Ul JiedTd 3cak folgl. (Fd 3ifaanr)
?) HSCAR FEUTST HIY?
Q) 3IRTT FEUTS HII?
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3) IR SaTE.
¥) FUOT FgUTST H1I?
) fargrasrar 31 @,

A) Explain Concepts/ terms/units/events. (any two)
(word limitation minimum 60 for each answer)
1) Community health
2) Unemployment
3) Family disorganization
4) Dowry system

31) ThoUall/ HAT /OCH/ECAT TASC L. (PIOTIET &l )

(IS 3card TR Qe FATET &o A )
?) HHCRS IRTT
) SASTIRY
3) @icfaesh faees
¥) g1 Tead
B) Attempt in short. (any two)
(word limitation minimum 60 for each answer)

1) Explain the causes of Rural unemployment.
2) State the problems of displaced people.

3) Explain the suggest the remedies for farmer suicide.

4) State the problems of Landless labour.

) AsFATT e ToIgT. (HIuTder aed)
(IAF 3k fhHATT Qsg HIAST o s )
?) FTHIUT SASTINIT HROT FISC 1.
) forafarzar gawar amem.
3) ATRIAT IcHEIR 31T .
¥) TAE AT HHEAT Hiam.

Answer in detail (any one)
(word limitation minimum 200 for each answer)

1) Explain the changing Nature Family.
2) Write an essay of Rural Problem.

faraR 3cR . (FIUTAGT Th)

(Tcdeh 3card fhaTeT eregadTer 200 206g)

?) Feard deed TIET TISCT .

Q) AT FEEIER F@faeax A forgr
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